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Explanation (Not Required) : Two
distine+ planes intersect

at a line

so we know there is exactly one

free variable. The RREF
cannot

have a pivot in the third column

becauseE has different values in

the two given
solutions. So the

PREF has form

[ bija]
Solve for a

,
b
,
c and d .
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18 -4731 - 14 42

-33 -1 -322L -23

- 5 - 2 11 12 98I - 30 -25 39 42 Il I
- 3 24 25 3 -37

Not in the span
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18 - 47 31 - 14 8 7

I -33 -1 - 32 21 - 19 I- 5 - 2 11 12 - 24

- 30 -25 39 42 - 6 I

- 3 24 25 3 - 79

v = v
,

-2 - V3 - Vy
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4) (2) + ( - 3) + 1 = 7
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+ x + xz
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xz
= 1 - Xy + 9X5

X
y
is free↳Xy = X5

X5 is free
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y
= 2x2 +2x + 1
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Explanation : The points (X ,4)

(1
,
1) and (** ) lie on a

line with slopeIt and y intercept

Y So the interpolation would
y -1

give the
solution

y
= 0x +(i)x+

X - Y #1)
Note :
- & I - = Y -

x - 1
X - 1


